@ (a-0b)?=a®-2ab + b?
(a+b)? = a® + 2ab + b?
(a-b)? =a®-2ab + b?
(=b—a)? = a® + 2ab + b*

® (a+b)? = a* + 2ab + b?

(=b - a)? = b? + 2ab + a*
@ —(a+b)? =—(a®+ 2ab + b?)
= —a® - 2ab - b*
(-a+ b)? = a* — 2ab + b?

® (b-a)? =b*-2ab+ad?
(-a+ b)? = a* — 2ab + b*




1 )
(Sa - —b) <3a + §b) E A75H?
O 3a®- 1b2 @ 3a®- 1152 ® 6a® - 1172
4 2 4
@ 9a2 - —b? ®)9a? - %Llﬁ
1 2
(3a)? - <§b) =9a% - ~b?




AF=?
= % 3x%y + 6xy 9 Q15
=)

2+2
@3(x+2) ® x
@ %y

3x2
@ xy+2 ®

= x+2)
(A1) = 3x (xy + 2y) = 3xy (




& 3 64a® - 16a + 1 9] 15 ALY

© da-1 @ 8-a ® 1-8a

@8"_1 ® 4a+1

64a% - 16a +1 = (8a —1)2




=

oo

= Ao] FAAFAL W, a+b ©) G Fatolet. (Fa>0)

4 +ax+ 1,92 + 24x + b

[
H -

>
> HEF a+b=20

B ~

45 +ax+1=(2x+1)?
a=2%x2x1,a=4

9x2 + 24x + b = (3x + 4)*
b=4%b=16
La+b=44+16=20




6.

A2 4 6y —16 & A5Bafelu?

@ (x-1)(x+16) @ (x+1)(x-16)
@) (x-2)(x+8) @ (x42) (x-8)
® (x—4)(x+4)

¥4+ (-2+8)x—2x8
(x=2) (x+38)




@ x+6
® x-3

@x+2

@ x+3

L= L= ]

1 1 1
A G
1 1
Y
1.
\

Holol

T2 2 +4x+4=(x+2)2 o|BZ,
g9 Zol7} x + 2 1 BAZE T Hol7t At




8. (x-2)(x+2)(x*+4) & AANsA?

@® x*-4 @ x?-16 ® xt-4
@ x'-8 @x4—16

(x> —4)(x* +4)=x1-16




(5x = 6)(4x + 3) = NG A7

i 1 .

@D 20x2% +2x-18 @ 20x% 4+ 4x-18

® 20x2 +6x—18 @ 20x2 -9x+ 18

@20)62 —9x—-18

(5x—6)(4x+3) = (5x4)x% + {5 X 3+ (=6) X 4}x + (-6) X 3 =
20x% — 9x — 18




10, (3x-2)? - (2x +2)(-2x+5) & A7AstH?

@13x2—18x—6 @ 10x2-8x+9
® 10x%2 - 16x-11 @ 10x2-8x+19

® 13x2-12x+19

(3x=2)2 = (2x+2)(=2x+5)= (9x2—12x+4) — (—4x%+6x+10)=
13x% - 18x - 6




11. 5 -Ax-3=(Bx+3)(x+C) & W, A+ B+ C 2] g2 Fatofat,

5x2 —Ax-3 = (Bx+3)(x+C)
= Bx* + (BC +3)x+3C
B=5
C=-1
—-A=BC+3=-2 A=2
. A+B+C=6




12. b5 H7] $ &2 A< 25 1=

@ (b-2a)* = (2a - b)?
© a®>-b*>=(a+b)(-a+b)
© (a+b)?-4ab = (a-b)?

® 4ab-1= (2a+1)(2b-1)

® @0 @o.© ® e e
® 0,60 600

©a?-b?>=(a+b)(a-b)
@ 4ab—-2a-2b+1=(2a-1)(2b-1)




13. 7 oA 4x? -9, 2x* - 5x+ 3 9] A5 FollA 352 Q& Al

] 5 Q1] ghe Fatelet.
=

> & 3x+2

B

o

4x% =9 = (2x + 3)(2x - 3)

2x?> —5x+3=(2x-3)(x-1)

FE 52 Aol Ll A) A4 2043, x—1 0|22
3x+2 0ot

H

SO
—




14.

O1ZF4] 342 + (2K - 3)x - 65 AW (3x— 1)(x + 6) o2
g}, ofuf, ko] ghe Fsholet,

cCh "
| —

oH- =

>
[>I-IL‘_I-' k=10

B

(Bx—1)(x+6) =3x2+18x—x—6
=3x2+17x-6
x O] Ax}FE| AE HlastH
2k -3 =17
S k=10




15. x o e o444 Ax? 4 Tx+ B O 9157h x+3 3x-2 A W, A+ B
o gre ot?

@® 3 @ 6 @0 @—3 ® -6

B ,

Ax?> +Tx+ B = (x+3)(3x - 2)
Ax?> +Tx+B=3x>+Tx—6
A=3, B=-6

L A+B=-3




16. HAFZFS moko] whol Wo 7l 1642 — 24a+9 2 uj, 3F Hl o] Zo]=9

@D 3a+5 ® 4043
@ 3a-3

16a2 — 24a +9 = (4a _ 3)2
uteba] gF 0] ol 4a - 3 0|t




17.

[a, b] = (a+b)> & W, [2x, —3y] -2 % [-x, 2y] & 15| o}A?

@ 2x% - 4xy — 2y? @ 2x% — 4xy + 2y?
@2x2 —dxy +y? @ 2x% +4xy +y?

® 2x2 + 4xy + 4y?

(2x = 3y)? = 2 x (—x + 2y)?
= 4x% - 12xy + 9y? — 2(x — 4xy + 4y?)
= 2x2 —4dxy +y?







19. &4 4E °185t (x+a)(x+5) & AR Aol »* 4 bx—15 o[t
olwl, & a, b o] F& A2 Fstofet.

(x+a)(x+5)=x*>+ (a+5)x+5a 7t x> + bx— 15 0| &
a+5=b,5a=-15°|t},
Tt a=-3, -3+5=b, b=2 0|t}




=7

o ol

g
il

__OL

25t

=

A

= 1HelA

20. tt

~ 4b\

--Q--

= a? + 2ab + b?

@® (a+b)?

=a? - 2ab + b?

@ (a-b)?

a® - b?

@(a +b)(a-Db)

@ (x+a)(x+b)=x*>+(a+b)x+ab

® (ax+b)(cx+d) = acx® + (ad + bc)x + bd

(a+b)xa-(ab+ b?)

a?® + ab — ab — b?
a? - b?




21. A3 7IE52 o 293} 2ol g W] Zol7t (3x + 1)m 1 FARZE
o] ZHhS 7F2 9] o= 2ym(3x > y) E°|4L, Al=29] Aol= 2ym
Z0M A2 ZS ThE7| 2 ofgint. 29 9] Yol=?

(Bz+l)m. 2y

ne 7
e ~—

v ~N— ~N— ~N—

1
(3x+1)m e ~—
\

\

\ 2Y

@ 9x% + 1+ 4y* + 6x + 4y + 12xy(m?)

@ 9x* + 14 4y? + 6x — 4y — 12xy(m?)
@Q)C2 + 6x + 1 — 4y*(m?)

@ 6x* +6x+ 1 —4y*(m?)

® 9x2 + 1+ 4y*(m?)

B ~
HSLE Zaro] 7k2 o] ZolE ((3x + 1) + 2y} m, 29| Zol&
{(3x 4+ 1) — 2y} m ©o]t}.

wehA] S ZEo] Wol=

{Bx+1)+2y} {(3x+1) -2y}

= (3x+1)2 - 4?

= 9x? + 6x + 1 — 4y*(m?)




22. (a+b+c)*= AANsHA?

D a® +b* +¢?

@ a?+b*+c2+ab+bc+ca
® a+b2+c2+a+b+c
@ a®+b%+c?+2a+2b+2c

(@)a2 + b2+ % + 2ab + 2bc + 2ca

= (a+b)?+2c(a+b)+c?
= a? + 2ab + b + 2ca + 2bc + ¢?
=a? 4+ b% + ¢ + 2ab + 2bc + 2ca




23. t= A= AAskE?
(2x+3y-4)(2x-3y+4)

@® 4x? -y +y-16 @ 4x? -y +9y-16
® 4x2-9y> +y-16 @ 4x? 4+ 9y? —24y - 16
@4)(2—9)/2 + 24y - 16

B

{2x+ @By-4)} {2x- (38y-4)}
3y—4 =2 st
(2x+1)(2x—1)

= 4x? - 12

t=3y—-4E HYstH

4x% — (3y — 4)?

= 4x? - 9y? 4+ 24y - 16




24, (x-4)(x-3)(x+2)(x+3) 9 AANIA 22 ¢] Ao} 45e] TS
Fotofet.

> E:

> ®E: 55

B

(x=4)(x - 3)(x +2)(x + 3)
={(x=4)(x+3)H(x - 3)(x +2)}

= (x2 - x-12)(x> - x - 6)

120l Y=o _6x2 4 x2 - 12x2 = —17x2 0|t}

wrabA] x2 o] Al 1703 A2 720]| B2 42 9] Aot
Ar5-3ro] 9H2 —17 + 72 = 550|th.




25. (a+b)(a-b)=a*-b* = o835t Axtstr] 7 Lot

@® 1982 @ 1012 @ 47 x 53

@ 101 x 103 ® 203 x 302

B

@ 1982 = (200 - 2)2

@ 1012 = (100 + 1)?

® 47 x 53 = (50 - 3)(50 + 3)

@ 101 x 103 = (100 + 1)(100 + 3)

® 203 x 302 = (2 x 100 + 3)(3 x 100 + 2)




26. x+y=9, xy=3 < o, x> +y2—xy 9 727

O 52 @ 56 ® 60 @72

® 80

2 —xy+y* =(x+y)%-3xy
—92_-3x3
=72




27.

(2x=5)(x=3) - (3x+2)(x-3) & <A

D (x+3)(x+7)

@—<x—3)(x+7)
©® (x=3)(x+7)

gl

shei?




28.

2
x> O, VAxZ —12x+9+ VOx2 - 12x+4=x+1 ¢ o,

shs x 0] @tol AA42 Fotolet.

uil

o
L

5 5
5 ]-7 ) 2, s
4 2

=~ w

>
> ®HE: 3 A4

VAx2 —12x 4+ 9+ VOx2 — 12x + 4
= /(2x=3)2 + /(3x-2)2

=2x—3|+3x-2
=x+10]B=2
[2x =3 = (x+1) - (3x - 2) = —2x + 3 °|t}.
Z x< 2o

2
web AR x2] ke 0.1, o 37felet




29.

g o] Lol x 9l Azt 9] Wol
oA B He] o)k 1 A AN
wolg Witk oju], o] Wols 4}
Aoz bl o, Azge] N
7tzof Az o] holg Fatofat.
> =
> =
D HE x+1
IS I= |
T WolE WA x2 - 10]B= (x+1)(x—-1)




30. X+ax-12=(x+b)(x+4), X*-bx—-c=(x+3)(x+d) & O,
a+b+c+d¥E? (a, b, c, d =)

O -12 @14 ® 20 @ -28 ® -34

B ~

¥ t+ax—12= (x+b)(x+4) =x*+ (b+4)x+4b
a=b+4, —-12=4b

b=-3,a=-3+4=1

¥ =-bx—c=(x+3)(x+d)=x*+(d+3)x+3d
-5=d+3, c=-3d

cd=-8, c=-3x(-8) =24
na+b+c+d=1-34+24-8=14

B *
x* +ax-12 = (x + b)(x + 4) oA F+3F-& vlwotH
_12=4b - b=-3

b=-32 Al fystd

W rax-12=(x-3)(x+4)=x>+x-12

Ta=1

x? —bx—c = (x+3)(x+d) oA x & A4E HwsHHA
5=34+d - d=-8

d = -8 & Aol ddstH

¥ =bx—c=(x+3)(x-8) =x2-5x-24

L c=24




31.

0124 167 - 4y?, 24 + by — 3y? 2 FE AT

@2x-» @ 2x+y @ x+3y

@ 4(2x-y) ® x+y

1622 —4y? = 4(4x® —?) = 4(2x +)(2x ~ )
2x? + 5xy — 3y? = (2x —y)(x + 3y)
hebA] 359 4= (2x—y) ol




32. 2 +5x+A & A5 &2l SFAEY (x+ B) (2x +3) ©] H3A. ©]
i, A+ B 2] gt& F-otofzt

> &

> ®ME: A+rB=4

B )

2x2 +5x+A = (x+ B)(2x+ 3)
2B+3=5 ..B=1,

A=3B ..A=3

LA+B=4




33.

2 olAH4 2 +ax + b 2 7, gol ASEa Aot o T,

a+b ) e Fatolet

7ol Z oA (x + 5)(x + 3) O] B2 x? + 8x + 15 ©] 1, x
Fo| ASE ZE Htong A5-e 115 o,

20| F O|2HA2 (x-2)(x—6) OB x2-8x+12 O] 1L, F5TFS
AR Hong x o ALE -8 otk

L a=-8, b=+15

“a+b=-8+(+15)=7




